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Calculating the statistics

EOIT TESTS Your calculator can easily find all the numerical summaries of data. To try it
Lopar 2hats imply need f values i f your datalists. We'Il ill -
TS5 Sfolz out, you simply need a set of values in one of your datalists. We’ll illustrate us
gifledotied s ing the boys’ agility test results from this chapter’s earlier TI Tips (still inL 1),
3 IguEdEEQ but you can use any data currently stored in your calculator.
E: LublckEeS
TiBusriRed e Under the STAT CALC menu, select 1-Uar St.ats and hit ENTER.

1-Yar Stat= L0

e Specify the location of your data, creating a command like 1-Uar
Stats L1.
e HitENTER again.

Voila! Everything you wanted to know, and more. Among all of the informa-
tion shown, you are primarily interested in these statistics: ¥ (the mean), Sx

1:?35 Stats (the standard deviation), n (the count), and—scrolling down—min® (the
%;_:55@ - smallest datum), &, (the first quartile), Med (the median), &5 (the third quar-
%:;E 1 ég%i%éléz tile), and max¥ (the largest datum).

J,ﬂii%' SeErL e Sorry, but the TI doesn’t explicitly tell you the range or the IQR. Just subtract:

L IQR = Q3 — Q; = 25 — 19.5 = 5.5. What's the range?

1_l‘=’la§ St_'at's By the way, if the data come as a frequency table with the values stored in, say,
Biﬂ'f":fl-i L4 and the corresponding frequencies in L3, all you have to do is ask for

1=19.5
Med=22 1-UVar Stats L4,L5.
[z=25
maxn=29
/ N

WHAT CAN GO WRONG?

A data display should tell a story about the data. To do that, it must speak in a clear lan-
guage, making plain what variable is displayed, what any axis shows, and what the val-
ues of the data are. And it must be consistent in those decisions.
A display of quantitative data can go wrong in many ways. The most
common failures arise from only a few basic errors:
> Don’t make a histogram of a categorical variable. Just because the
variable contains numbers doesn’t mean that it’s quantitative.
Here’s a histogram of the insurance policy numbers of some
workers. It’s not very informative because the policy numbers
are just labels. A histogram or stem-and-leaf display of a cate-
1000 — gorical variable makes no sense. A bar chart or pie chart would
be more appropriate.
f f t > Don’t look for shape, center, and spread of a bar chart. A bar chart
10000 30000 50000 70000 90000 showing the sizes of the piles displays the distribution of a cat-
Policy Number egorical variable, but the bars could be arranged in any order
FIGURE 414 left to right. Concepts like symmetry, center, and spread make
sense only for quantitative variables.
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It's not appropriate to display these data with a
histogram.

(continued)



